Strauss Preparatory School

1) Fill in the number sentences to partition the values

and calculate the total value.
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6006 + 650 = I:l

= 2090 + 7909
1000 + 55 + :l = 6355
4045 = 2045 + I:I




Strauss Preparatory School

1) On the way to the airport, the boarding passes got muddled. Can you match the boarding pass with the
correct person? Use the statements below to help solve the problem and record your answers in the table.

Boarding

Name Pass Number

6553

3655

3573

3511

3501

5305

3315

5035

My boarding pass number
has an even digit in the
thousands place.

I can't remember
my boarding pass
number at all!

My boarding pass number has two digits
the same. The digits in the tens and ones
place add together to make 8.

My boarding pass number
has five hundreds and
three ones,

My boarding pass
number has a
placeholder,

There are five hundreds and
eleven ones in my boarding
pass number.

My boarding pass
number has three
thousands and one one.

My boarding pass
number has thirty-
three hundreds.




